:obladl -3

lim e* = (4)
X—+ 00

lime*=0

X—>—00

ex

lim — = (+o
Jim — (+0)

lim xe* =0

X—>—00

i X
lim —=0
x—>+00 eX

o e*—-1
lim =1
x-0 X

BY: ISSAM EDDINE —SAMO—

PR T (U 5 7Y

bgoles -1

ety =e* x eY

ex

er vV =—
ey

-X _ _
e = e

(e"" = enxx

Je=er
B R gebsa S daige o
a=b ©e%=¢eb
a>b e >eb

a<b ©e*<eb

daddl Ledls 2

L,cq sradl Loy R e slaad alls e v
(e¥)' =¢e* .,

ale 21.5.44..[9 v

[e“(")]’ = u'(x) x e*™




o w®
[Inu(x)] = —

lim Inx = (+x)

X—+o00

liminx = (—o)

x-0
. Inx
lim—=0
x—>+o0 X

lign xlnx=0"
x—0

Inx

lim =
x-1 x—1

. In(x+1)
lim—————=1
x—0 X

BY: ISSAM EDDINE —SAMO—

eiylegd AdlaJ1 sl

olgs -1
X ER 5 y>0 Ui v
ef=y ox=lIny
by umge b sue S 2l e v
elnx —

Ine*=x :,LXxER > 0 v
b>05a>0KUlcw v
a=b ©Ilna=1Inb
a>b ©Ilna>Inb
a<b oIlna<linb

Inab=Ina+1Inb

mE=ima—inb
nb—na n

In—=-Ina
a
Ina® =nxlna (n € N)
1
Inva==Ina
2
aacdd) Ldls -2

Ldlag |05 +oo[ e slaza aLs Inx v

1
(Inx)’ == Dy ddyeq il




